Residual versus local y

E — — e 1esXTBGPst_physics_5046059.root ss (0,12]
&uloﬁ__; ..................... :
S - | ——e—— resXTBGPst_physics_5046059.root ss (12,24]
=) . :
%O 04— | ——e—— resXTBGPst_physics 5046059.root ss (24,36]
0.04 i, g
o - || ——e—— resXTBGPst_physics_5046059.root ss (36,48]
0.02 _ ..................... ..................... ..................... ..................... ..................... ...............
_' H H H H . H . H .
2 () o o
e ° e % % %° e o
- - (T 0'.3.1. o
O__ .............. 5 ®:..." ~*~..... .-.\ %‘ D .'.d‘- Jeg ) 2 »
0,02 T— A S A— A —
_0.04_ | L1 | L1 I T (T T T AR SR N SN S N

60 80 100 120 140 160 180

Fri Feb 4 11:34:11 2005 Local Y



